
2 1

NFJ300 Warm air blower

 Assemble Drawing

NFJ300-0
NFJ300-0

Quantity Scale

1Swith covering

8ST3.5X10-C-H
Cross recessed pan head tapping

screws with washer

Right Seal plate 1A3 δ=0.8NFJ300-0-1

3

2

1

3

NFJ300-0-2 A3 δ=0.8

4

5

6

3

1

Switch

4

refer to NFJ300-JX

5

Cross recessed pan head
tapping screws with washer ST3.5X10-C-H 2

Mounting standNFJ300-0-3 A3 δ=2

67

10 Wiring Terminals
1power wire fixing clip

Cross recessed pan head
screws

1

2

11

9

NFJ300-1-0 Switch plate assembly 18

7 NFJ300-0-4 Plate A3 δ=0.8 1

89

GB818-2000 M4X6

101112

112

13 2BG845-76

14

16

2

4

Closed terminal

 Cross recessed pan head
screws 1

Motor leads15

 Motor assembly

NFJ300-0-5 A3 δ=0.8

131415

Cross recessed pan head
tapping screws ST3.5X16-C-H

1618

17

GB818-2000 M4X10

GB6170-2000 Hexagon nuts M4 217

Wind wheel assembly

Earth termina

23

Air duct assembly

 Heating element assembly

2

2

22 NFJ300-3-0 2

21

20

2

19

2

Heating element leads 4

Air duct connector18

25

24

NFJ300-0-8 Rubber bearing base rubber 2

NFJ300-0-9 Wind wheel bearings 2

A3 δ=1.2NFJ300-0-6

1921

304 δ=0.8NFJ300-0-7

2223

NFJ300-4-0

24

NFJ300-5-0

2526

2M6X12
Cross recessed hexagon bolt

with washer

245#  δ=2stand adjustment blockNFJ300-0-12

Wind wheel bearing cap 2A3 δ=1NFJ300-0-11

Remarks
Materials

Specification
Drawing code Name

272831

32

 washer
external diameter Ø18

2

NFJ300-0-14

NFJ300-0-13

Seal plate fixed block

Left Seal plate A3 δ=0.8

A3 δ=0.8 2

1

32

3435

33

1A3 δ=0.8main bodyNFJ300-0-15

36

Cross recessed pan head tapping
screws with washer ST3.5X10-C-H 4

38

39

41

NFJ300-0-17

34

35

2

1PP

ST4X20-C-H
Cross recessed pan head

tapping screws

Pressure line block

GB845-85

42

43

44

45

47

28

29

26

27

Cross recessed pan head
screws

power wire

M4X20 2

1

38

37

GB818-2000

NFJ300-0-18 Bushing rubber 1

36

39

GB12618-1990 Open type oval head rivets 4X11 8

4

41

40

Cross recessed pan head
tapping screws with washer ST3.5X10-C-H

29

GB818-2000
Cross recessed pan head

screws M4X6 4

33 20

30

42

1Outlet network assemblyNFJ300-2-0

43

 Cross recessed pan head
tapping screws with washer ST3.5X10-C-H 4

46

44

Fan mounting plate galvanized sheet 1 1NFJ300-0-19

48

NFJ300-0-21 Outlet network fixing part  A A3 δ=0.8 1

45

40

46

NFJ300-0-16  Connector fixed block galvanized δ=0.8 1

37

31

47

Cross recessed pan head tapping
screws with washer ST3.5X10-C-H 2

internal diameter Ø6.5
δ=1

 Technical request

1. All the part should be installed correctly.  No omission, No loosen, No
dislocation come out etc.

2. Clean appearance is requested, No smudge and No scratch defect etc.
3. Electrical safety performance Shall comply with GB4706.15-2003 《 Household

and similar electrical appliances - Safety for skin and hair care appliances -
Particular requirements 》

4.  Rated voltage 220V, Rate frequency 50hz,Rate power 3000W
5.  Wire and wiring method by NFJ300C-JX 《Electrical wiring diagram 》
6.  Product life not less than 3 years ( 30 min / day)
7. Product inspection requirements by 《Household and similar skin and hair care

appliances factory inspection standards 》and 《Household and similar skin and
hair care equipment type test 》.

30

Cross recessed pan head tapping
screws with washer ST3.5X10-C-H 4

48

1

49

49

NFJ300-0-3 specification sticker foil paper sticker 1

Remarks
Materials

Specification
Drawing code Name

refer to NFJ300-JX

refer to NFJ300-JX

refer to NFJ300-JX

refer to NFJ300-JX

refer to NFJ300-JX

refer to NFJ300-JX


